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Questionl: If log2=x and log6=Yy , then log15="

Answer: y -2x +1

Question2: Write the logarithmic expression: 2—log x°—8log y +log Xy as a
3 9 3
single logarithm with a base of 3

Answer: log iz
3y

Question3: If logx=a, logy=Db, then write the expression log, (x3\/7) in terms of a
and b.

Answer: 6a +b
2a

Question4: For x>0, y>0 2logx + 3logy _
' ’ " 2log+/18 —log6

a) |09[X2y3] b) log,(x°y°) ¢) log(x’y*-3)
3

d) Iog3(x2y3) e) log,,(6xy)

Answer: (d) Iog3(x2y3)

Question5: If x >0and y >0, then —2-2log, y +logx? simplifies to

10

a) log(x*-y*-2) b) 2log [%} ¢) log(100x’y?)
d) log (%) e) Iog(x2 —y? —100)

2
(- Xy
Answer: (d): log| —=
wer: (d) g(loj
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